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What is open auction ?

-vVhat.is E-Bankin.g ?

What do you mean by virus ?
N,

Explain F-Commerce.

What is digital cash?
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Section A

Answer arll questions.

Each question carcies L rnark.

1.

2.

3.

4.

5.

.aa

b.

7.

8.

9.

10.

Explain credit card.

What is hybrid smart card ?

Explain CZC.

What is PGP ?

Explain E-branding.

Section B

Answer any eight questiott,s.
' , Ea,ch question carcies 2 marks.

?

Describe value chain integration.

Explain E-Purse.

Who is a virtual merchant ?

Explain corporate purchasing.

What is digital signature ?

1L.

L2,

13.

L4,

15.

16.
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17. What do you mean by pure E+ommerce ?

18. Explain anti-virus softrvare.

19. What is server ?

20. What do you mean by logistics management ?

2L. List out various modes of payments in e-comrnerce.

22. Whatis gateway ?

(8x2=16)
ection C

Answer any six questions.

Each questi,on carrics 4 marks.

29. Explain info-mediary model of E-commerce.

24. What are the limitations of electronic payment systern ?

25. What is web commerce ?

26. Discuss different types of smart eards.

27. What are the components of a good E-commerce Website ?

28. Write note on cyber cash.

29. Explain the techniques used to build customer loyalty in E-commerce. ,

30. Explain SSL and Source HTTP.

31. Explain the trading process in B2B coilrmerce.

(6x4=24)
Section D

Answer any two questi.ons.
Each question camics|.t5 marhs.

32. Explain different E-commerce models based on transaction tytrle.

33. Discuss the features and limitations of E commerce.

34. Disluss the process or transaction cycle of E+ommerce.

35Explaintheprecautionarymeasurestobetakentoavoidsecuritythreatsine.commerc

(2 x tE = B0)


